IWSEHBM T IFLT7IILITRE (WP)
=LA GROSS HDCP NET [[=tia GROSS HDCP NET
1 IND E— 39 43 82 12.0 700 [AE]| A EA #Fi 48 41 89 14.4 74.6
2 BH EE 43 | 39 82 120 700 |AE| 42 7a)Il FREE 46 54 100 25.2 74.8
3 BRIR F08A 45 40 85 144 706 |Ax| 43 HS =% 46 41 87 120 75.0
4 =& FxX 46 50 96 25.2 708 |AE| 44 2B Rz 44 | 43 87 12.0 75.0
5 B R 40 49 89 18.0 710 |AE]| 45 B ShER 47 46 93 18.0 75.0
6 alR & 44 44 88 16.8 712 |AE]| 46 R EE 49 44 93 18.0 75.0
7 KPE BAR 45 4 86 144 716 |A¥| 47 A pEsR 50 49 99 24.0 75.0
8 AR Bk 46 52 98 26.4 716 |AE]| 48 NI EA 51 54 105 30.0 75.0
9 MR 1THE 40 45 85 132 718 |AE]| 49 HFE =#5 45 41 86 10.8 75.2
10 AR MR 39 | 39 78 6.0 720 |A#]| 50 NI\ EE 45 | 47 92 16.8 75.2
11 INEF RS 44 | 40 84 120 72.0 51 il & 47 | 45 92 16.8 75.2
12 izbe = 41 43 84 12.0 72.0 52 ok EE 44 | 48 92 16.8 75.2
13 —F At 44 46 90 18.0 72.0 53 KE XH 52 46 98 228 75.2
14 B B 45 | 44 89 16.8 72.2 54 Hix B= 44 | 41 85 9.6 75.4
15 A EE 40 42 82 9.6 72.4 55 ILIgR BUH 42 42 84 8.4 75.6
16 BO B— 44 | 44 88 15.6 72.4 56 R AK 50 | 46 96 20.4 75.6
17 AKX ERF 47 47 94 21.6 72.4 57 Et+E F 50 46 96 204 75.6
18 g1l % 42 45 87 14.4 72.6 58 BE T 44 45 89 13.2 75.8
19 KA #H— 44 43 87 144 72.6 59 X ER 46 43 89 13.2 75.8
20 hi BB 46 41 87 14.4 72.6 60 L f— 47 42 89 13.2 75.8
21 ik ABHCER 48 45 93 20.4 72.6 61 AR Hish 45 50 95 19.2 75.8
22 XiI B— 44 | 42 86 13.2 72.8 62 Bl EE 50 | 45 95 19.2 75.8
23 FIl =# 45 46 91 18.0 73.0 63 B E1XX 48 47 95 19.2 75.8
24 =R #BA 46 45 91 18.0 73.0 64 Tk BX 51 50 101 25.2 75.8
25 BRIl BEX 50 47 97 24.0 73.0 65 Zfg & 43 45 88 12.0 76.0
26 INBRIR {eREA 42 55 97 24.0 73.0 66 1ok R 50 50 100 24.0 76.0
27 EA HEME 45 39 84 108 73.2 67 K& 1HKREA 56 50 106 30.0 76.0
28 A b 42 | 42 84 10.8 73.2 68 Al B 44 | 49 93 16.8 76.2
29 AR fE— 40 | 37 77 36 734 69 Al B 42 | 44 86 9.6 76.4
30 FE B 42 41 83 9.6 73.4 70 RFE EHX 43 43 86 9.6 76.4
31 BHAK —IF 45 44 89 15.6 73.4 71 =% g 45 47 92 15.6 76.4
32 Wi —B 45 | 43 88 14.4 73.6 72 FH *E 48 50 98 21.6 76.4
33 RM &3 44 43 87 132 73.8 73 i N =] 47 51 98 21.6 76.4
34 G 5 YN 45 | 42 87 13.2 73.8 74 F5 BK= 48 | 49 97 20.4 76.6
35 =E 8% 46 47 93 19.2 73.8 75 HEE FERT 50 47 97 20.4 76.6
36 AH ZT= 44 | 41 85 10.8 74.2 76 BiE T 52 51 103 26.4 76.6
37 R = 47 43 90 15.6 74.4 77 AW 44 46 90 13.2 76.8
38 A A 46 | 44 90 15.6 74.4 78 B[R BEE] 47 | 49 96 19.2 76.8
39 =H FH 44 39 83 8.4 74.6 79 o FF 52 44 96 19.2 76.8
40 KR EEF 44 45 89 14.4 74.6 80 AR X 49 53 102 25.2 76.8




I fsz GROSS | HDCP NET I 45z GROSS | HDcP NET
81 B+ IERB 47 42 89 120 77.0 121 A B 51 49 100 18.0 82.0
82 WEEH = 51 44 95 18.0 77.0 122 TH RE 55 57 112 28.8 83.2
83 Hi¥ %A 50 45 95 18.0 71.0 123| JKH FH=ER 62 57 119 30.0 89.0
84 mh BZ 42 | 46 88 10.8 77.2 124 R & 64 | 55 119 30.0 89.0
85 we 5= 47 47 94 16.8 77.2

86 HE FZ 49 45 94 16.8 77.2

87 SR Bo 46 54 100 228 77.2

88 Bk B 42 45 87 9.6 77.4

89 AE BR 46 47 93 15.6 714

920 Il FIa 49 50 99 21.6 77.4

91 Hie #= 53 50 103 25.2 77.8

92 BRIR 54 49 103 25.2 77.8

93 miE EX 56 47 103 25.2 718

94 MR HIE 45 | 45 90 120 78.0

95 fmAR EA 50 52 102 24.0 78.0

96 FHLE J\EB 46 | 49 95 16.8 78.2

97 FEE T 43 45 88 9.6 78.4

98 KiE W 48 | 46 94 15.6 78.4

99 TR @R 53 52 105 26.4 78.6

100 LK PESR 44 | 48 92 13.2 788 |AH

101 NI 44 48 92 13.2 78.8

102 (=Y S 50 48 98 19.2 78.8

103 A = 49 | 49 98 19.2 78.8

104 lLf; £ 52 | 45 97 18.0 79.0

105 NYE BIEA 48 49 97 180 79.0

106 =ZE EH 58 51 109 30.0 79.0

107 =% kA 54 48 102 228 79.2

108 A EWE 50 | 51 101 21.6 79.4

109 B A 52 55 107 27.6 79.4

110 5 & 50 50 100 20.4 79.6

111 B F 54 | 52 106 26.4 79.6

112 HER # 50 | 49 99 19.2 79.8

113 IWE EZE 55 55 110 30.0 80.0

114 2l BF 49 54 103 22.8 80.2

115 Bl Fo 53 56 109 28.8 80.2

116 e 88 57 54 111 30.0 81.0

117 % FE 50 54 104 228 81.2

118 A#HF Esh 50 | 53 103 21.6 81.4

119 EH ¥ 53 49 102 20.4 81.6

120 By E— 43 51 94 120 82.0




